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https://ciofs.info/library/official-documents/ or https://www.secularfranciscansusa.org/the-general-constitutions-

of-the-secular-franciscan-order-2000/

=
10

160

712 (2| %] 94 %]

od
&
o+
ol

=
10

i[d
10

H

50
Ki

H| o4

M ARt

|0|H, P A= 7+

{

-
2
e
[
—

ximo| 7|

5172 & X)

<
o

o] EHO|C}(3

TFAl
—

7

o &GOl Mch= O RO X| 12 A=XK;

4qr

K,
o<

E|
=

i

7

3|t 2|0 2

2t

el CHE A2 of 2| AT

2z
)\
2R E

H0

| %L Ct

101

N
O<
?_
7o)

s

i

oll

ol
)
E|

ar

2| §FE RSO At=| 2o
O|ct. Eol=|of RF S EHLE AHAH SEHOf

g

EH2F X &t SEH O] CHt

12| T g &

=At= 8oz

3. &

o
Zitg

7ol A| O

10| OFEH H =

[e)
—

Mzlel B8z sid o

BIotH,
o AL

2E1g

AL SH 2|0 HIE SAte 2E
o
o

= 24 Zo|Tt. o Of

==

|=2|of MA 2
s

L_mo
- O—
=13
=

4. B EXt
=Nl

T 12{g AO0|Ct, (83, 84X &t X)

~
(]

_ﬁL

b

-
()
—

¥
o0
10
=

ol
<

uju


about:blank
about:blank
about:blank

(At FG0| HED| |10 U=X| £ MfAt=2| £t ME2[2to M2l D52f /| X|of Chet 22

Ofsi7} X|£EH 22 O|R0] X| 1 U=X| 2= oA ot7| #|eto|L.

94Z & H2 FO| L3 M S EES] BA2.
+ TR H 2| of/Lt X M| =] o &= 0i| CHet M2 o st

off Bisl ot

+
(Vo)
S
7]
N
0ok
rlo
0%
r-ln
E
N
ﬁ
'9
%
i
X
=
o
=
>
o2t
M
1>
Pal
JQ o>
ﬂ
=)
X
10
Okt
_,>_

o o |-
= A 7|5 =g HE YL L 0|2 ot= A0l A S U



